flux

AP/ 2.120

AP/ 2.125

100

50

-50

O 71—

oy, 105 km/s

Fe2 + Continuum Fit
Opep 100 +/— 355 km/s
, : . . . ,

X oin / 4566 = 2.120

1500 2000 2500
Rest A (&)
Fe2 Scale Factor x2 Diagnosis
o, 105 km/s 0.01927(101) szin / 4566 = 2.120
L L L L L T — T T T T T T
rm686 RMS 0.324
MAD 0.273
N
I S * ]
L | L L L L | L L L L | L L L L | L L L L | L L L L | L L | L L L L | L L
0.016 0.017 0.018 0.019 0.02 0.021 0.022 0.023

Fe2 scale factor

Fe2 Velocity Dispersion x2 Diagnosis

gy 100 2000 prior 225 km/s —840(350) X, / 4566 = 2.120
F T T T T T T T T T T T T T T T T T T T T T T T =
- | rm686 RMS 17.9 -
: %

T

N

==
o—==

Joumm—

1000 1500

Fe2 Dispersion (km/s)

2500



